»  Performance curves

Performance curves

The performance curves are based on water at 20°C. Other circumstances might change the performance.
Example see thered line — — — — —e

A flow of 6 liter/minute is desired. The discharge head is calculated to 30 mWC. We choose a TRO.
It requires an air pressure of 6 bar and will consume approximately 0.10 Nm? air per minute.

:;QD e TRg —D— Air pressure (bar) HEAD TRzo _D_ Air pressure (bar)

Air consumption (Nm?/min, SCFM) PSIG mWC Air consumption (Nm>3/min, SCFM)
80 80
8 8
100 70 100 70
0,04
80 60 s 141 80 60 6 0,10
0,07 ,53
50 247 50 0,05 0,15
60 60 77 30
0~y 70 0~y
3 0,20
4 30— — ul 4 30 206
20 20
2 2
20 20
10 10
0 1 2 3 4 5 6 7 8 9 10 11 12 I/min 0 2 4 6 8 10 12 14 16 18 20 22 24 |/min
0 0,5 1 1,5 2 25 3 USGPM 0 1 2 3 4 5 6 USGPM
CAPACITY CAPACITY

HEAD q HEAD .
—| l— Air pressure (bar) —| l— Air pressure (bar)
PSIG mWC Tso Air consumption (Nm?*/min, SCFM) PSIG mWC T1 00 Air consumption (Nm?/min, SCFM)
80 80
100 70 100 70
60 60
80 80
50 50
60 49 60 49
40 3 40 30
20 20
20 20
10 10
0 10 20 30 40 50 60 70 I/min 0 20 40 60 80 100 120 140 I/min
0 4 8 12 16 USGPM 5 10 15 20 25 30 35 USGPM
1 2 3 4 5 6 7 8 mé/h
CAPACITY CAPACITY

::SEIQD e TZOO —D— Air pressure (bar)

Air consumption (Nm?3/min, SCFM)

80
8
100 70 =
60 10,6
80 sk, ™
50 . 3’7,8
60
40 - >
124
40 30
20
2
20
10
0 50 100 150 200 250 300 350 I/min
0 10 20 30 40 50 60 70 8 90 USGPM
0 4 8 12 16 20 m¥h

Changes reserved without notice

» All about your flow




